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3 Additionswerte (2-stellig)

Name:

L 0se jede Aufgabe.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

11+47+75=

48+ 31+68=

76+ 52+ 96 =

36+82+54=

40 + 86 + 96 =

62+ 58 +47 =

88+37+77=

85+68+54=

91+39+62=

44+13+12=

83+57+38=

34+75+16=

69+ 25+ 46 =

30+76+21=

Antworten

10.

11

12.

13.

14.
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ﬂh 3 Additionswerte (2-stellig) Name: L Osungsschlissel

L 6se jede Aufgabe. Antworten
1) 71+47+75= 193 193
- 1.
2) 48+31+68= 147 2 147
3 224
3) 76 +52+96= 224 5
4. 17
4) 36+82+54= 172 5. 222
6. 167
5) 40+86+96= 222
7 202
6) 62+58+47= 167 8. 207
192
7) 88+37+77= 202 %
10, 69
8) 85+ 68+54= 207 . 178
9 91+39+62= 192 e 125
13, 140
10) 44+13+12= 69 197
14.
11) 83+57+38= 178
12) 34+75+16= 125
13) 69+ 25+46= 140
14) 30+76+21= 127
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3 Additionswerte (2-stellig)

Name:

L 0se jede Aufgabe.

Antworten

{

224
202

192 222
167 147

193
172

69
207 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

71+47+75=

48 + 31+ 68 =

76+52+96=

36+82+54=

40+ 86 + 96 =

62+ 58 +47 =

88+37+77=

85+68+54=

91+39+62=

44+13+12=

10.

Geandert
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